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Which loss is unavoidable on 8¢ oy

_ e
inherent nature of production Im| jrocess
(A) Process (3) Normall

hese
(C) Abnormal () Alloft

The Federal Assembly of German "g“r‘cmhb
1s ealled as

(A) Bundestag
(C) Dhooma

of
7

(B) Bundesrat
(D) Diet
“Hindi speaking region had never been
a part of Punjab. It was essential for the
development of this region to separate it
from Punjab and form a new state by uniting
with it certain adjoining parts of Delhj,
Rajasthan and of the Uttay Pradesh.” This
Was a famous statement gajqd in 1932 by
(A) Pandit Neki Ram

(B) Bansilal

(C) Deshbandhy Gupta

(D) Devilal

Evaluate J41-J21+J19-J§ .

A 3 (B) 5

C) 6 (D) 6.4 S

The objectives of Foreign

Regulation consists of

(A) To regulate certain payments

(B) To regulate dealings in foreign
exchange and securities

(€) To regulate foreign companies

xchange

(D) All of these

A man divides whatever money he has
among his three sons in the ratioof 2:3: 5.
If the first son's share is Rs.18,400, find
the share of second son.

(A) Rs. 27,400 (B) Rs. 27,600

(C) Rs. 27,600 (D) Rs. 27,700
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8.

10.

11.

12.

13.

Net Working Capital Currend

Laabilities, Find the missing aosetan iy (he
equation.

(A) Liquid nssets

(B) Current assets

(C) Waste assots

(D) All of these

The _ bus connects only the

CPU and RAM and carries only memory

addresses.

(A) Accelerated Graphics Port (AGP)

(B) Peripheral Component Interconnect
(PCD

(C) Address

(D) Data

lake of Haryana was built in 1947
when two small hillocks were joined.

(A) Hathnikund Lake

(B) Badkhal Lake

(") Damdama Lake
(D) Karna Lake

The name of the instrument wiﬁc‘h
measures the atmospheric presqme is
(A) Barometer

(B) Ammeter

(C) Galvanometer

(D) None of the above

During British era, Haryana became a
part of Punjab in

(A) 1857
(C) 1919

(B) 1858
(D) 1947

Stinging hair of nettle leaves inject ____
causing burning pain.

(A) Ethanoic acid

(B) Dimethyl ether

(C) Methanoic acid

(D) Chloroform
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(C) Tm=m |

(D) 1 ==
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&) A

(B) tfrex

(C) Treamiten

(D) I § & #1870

12 fafear @ 4, wfemon 8 qum= #
I =)
(A)- 1857 (B) 1858.
(€) 1919 (D) 1947
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18,

19.

®

pll

Iﬁﬂs:uvanwlnndtwﬂvnwlh1q:"é
Payable Book may be of ——
(A) Three (B) Two
(C) Four (D) Five
The
clapses between the recognition b Fe
and its fulfilment.
(A) Lead (B) Long
(C) Short (D) Medium
16. This national park of Haryana 18 situated

at Yamunanagar

(A) Sultanpur National Park

(B) Asola Bhatti National Park

(C) Kalesar National Park

(D) Bhindawas National Park

In a class, 55% students are girls. If the
strength of girls is 44, find the strength
of students in the class.

(A) 80 [B) 70

(C) 85 (D) 90

‘Dahshala System’ in Haryana was
the system of revenue collection and
agriculture tax. It was introduced by

(A) Bhujbal (B) Raja Todarimal |
(C) Raghobal (D) Birbal

are created during the generation,
transmission and use of low-frequency
electrical power.
(A) Magnetic fields
(B) Heat waves
(C) Cold waves
(D) Eleetromagnetic fields (EMFs)

j that

= time is the peri?

The capital represents financial
investment in a highly risky project with
the objective of earning a high rate of
return.

(A) Gross
(C) Venture

(B) Net
(D) All of these

14

15.

16.

17.

19.

20.
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InHaryana, ____ festival 15 eelq
to welcome the rainy senson.
(B) Baisakhi

(D) None of these

hl':lh-{l
(A) Gangore
(C) Teej

Tundra type of vegetation is
in

mainly founy

(A) Polar arcas of Europe, Asia
North America

(B) Either side of the equator and
till the tropics

(C) Tropical areas of
America

(D) None of the above

and

extend

Asia and Soyth

23. This lake of Faridabad in Harvana was

24. The H.C'F. of two numbers is 8. Which one

25.

26.

27.

built during the rule of Tomar dynasty
(A) Sannihit Sarovar

(B) Surajkund

(C) Karna Sarovar

23.

(D) Brahma Sarovar

of the following can never be their LQ&@\
(A) 24 (B) 48
(C) 56 (D) 60

Prithvi Raj Raso was composed by
(A) Prithviraj Chouhan

(B) Chand Bardai

(C) Surdas

(D) Altaf Hussain Hali

A Balance Sheet is a statement of
position of a business on a given date.
(A) Economic (B) Financial

(C) Insolvent (D) Healthy
Non-economic factors in economic
development includes

(A) Human resources
(B) Political freedom
(C) Corruption
(D) All of these

24.

25.

26,

27‘
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28.

41,

32,

33.

emperor of Rome in
(A) Principin

(C) Princeps

Globalization is the term us
the process of removal of restr

consists of

(A) Foreign trade

(B) Foreign investment
(C) Innovations in communications

(D) All of these

In 2015, Haryana Govt. declared that it

will develop
(A) Gurgaon

(C) Panipat

The I‘l-ul'lm-vs‘-l:lhll-‘-ln‘t] by

" ]r-“
Aunusiies, the fi

07 B.C.E. was ¢ Jot
() Principat®
() Princet

ed to (Ic.-‘-rr:hn
jetions

as smart city.

(B) Thari

(D) Ambala

Rohu, Catla and Hilsa are varieties of

(A) Fish
(B) Poultry
(C) Cattle

(D)) None of the above

Jawahar Lal Canal has been drawn

from

and passes through

Mahendragarh district of Haryana.

(A) Bhakra Canal
(B) Bhiwani Canal

(C) Gurgaon Canal

(D) Eastern Yamuna Canal

Section 4 of the Partnership Act,

defines Partnership as “The relation
between persons who have agreed to
share profits of a business carried on by

all or any of them acting for all”,

(A) 1942
(C) 1962

(B) 1932
(D) 1972
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36.

Factors influencing Corporate Gy,

consist of

(A) The ownership structure of n
corporation

(B) The structure and functinning of
the company boards

(C) The legal, political and regulatory
environment

(D) All of these

Image quality, also known as print
resolution, is usually measured in

(A) Pages Per Minute (PPM)

(B) Pages Per Second (PPS)

(C) Dots Per Inch (DPI)

(D) Data Processing Management (DPM)

“nance

Bara Jain Mandir is situated at
district of Haryana.
(A) Panipat

(C) Faridabad

(B) Sonipat
(D) Kaithal

Select the number which is different from
others in the group.

(A) 415 (B) 336
(C) 549 (D) 721
Which country was partnered with
Haryana Govt. to set up Horticqﬁ’ure
Project in Karnal District ?
(A) Israel

(B) Japan

(C) France

(D) United States of America

In India, the Institute of Chartered
Accountants of India (ICAI) has established

the Accounting Standard Board in which year ?
(A) 1977 (B) 1975
(C) 1985 (D) 1995

‘Swaraj Party’ was formed by

(A) C.R. Das and Motilal Nehru

(B) Subhashchandra Bose and Jawaharlal
Nehru

(C) Motilal Nehru and Jawaharlal Nehru
(D) C.R. Dag and Jawaharlal Nehru

-1-
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42.  The imperial Japan ann¢ xed ¢ - 3R i
as its colony in 1910 3 [’3‘35337.‘?'1“ ferm f'
(A) Korea (B) China (A) Eaiton (B) m
(C) Tibet (D) Manchuria (©) fo==a p) Wi
13. In Haryana, the Indira Gandhi Super | 43, gfemn # $fan me m T T
Thermal Power Project is located in T fom 2
(A) Yamuna Nagar (B) Jhajjar (A) AT AT ) I
(C) Khedar (D) Kakroi (C) @ (D) =FTF032
44, Hathnikund barrage in Haryana isbuilt | 44, 4= d e A ___FARENEAR
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(C) Conservation (D) All nf:ﬁ'iese (C) T (D) T3
46. 15 an act of buying and sellinga |  46. oY T Fl gﬁ | Afafraqan
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by about ULE Eeal LS Ay
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(C) 56% (D) 38% (C) 56% ) 38% =
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49. SixpersonsA, B.C.D.Eand Fare g0

forming a circle and one 1= facing other
from to front. B is between A and O,
is between F and D, F is sitting s]r;u.:ht‘
opposite to A and right to E. Who i it
the immediate left of D ?

(A) E (B) F

(C) B (D) A

50. An option is a contract or financial

51.

52.

53.

64.

instrument that gives holder the right, but
not the obligation, to sell or buy a given
quantity of an asset at a price
at a future date.

(A) Spot (B) Specified

(C) Actual (D) Future

. 1s a group of computers that are
wired together so that they can communicate
with one another.

(A) A computer network

(B) An office

(C) A company

(D) None of these

Punjab was declared as a new proxi'i}c‘c
of British India after

(A) First Anglo — Sikh War

(B) Second Anglo — Sikh War

(C) Third Anglo - Sikh War

(D) Fourth Anglo - Sikh War

Find the lowest common multiple of 24,

36 and 40.
(A) 120 (B) 240

(C) 360 D) 480

Under the Employee’s Compensation
Act, 1923 if personal injury is caused to
an employee by accident arising out -‘-‘“.d
in the course of his employment. Who 18
liable to pay the compensation ?

(A) Employee (B) Employer

(C) Government (D) None of these

AANN

51.

52,

53,

64
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60.
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(A) Water (C) 3 5
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author to one o' £ ) &Eﬁz‘a

(A) Digital
(C) Birds

Kartik Cultural h'fm*at
district of Haryana alms.
(A) Agricultural harvesting .;
(B) Martial arts and folk art!
(C) Kite flying

(D) None of the above

al in Gurgaon
pmmuti“g

-t
-3
.

58.  The ‘Pocket Veto refers to the
(A) Power of the president to pass an
ordinance
(B) Power of the
financial bill
(C) Power of the president to impose
president rule in the state
(D) Power of the president 1 keep the

bill pending with him Withayy any
time limit

president to reject a

Surdas jg regarded as having taken hig
mspiration from the teach,

‘ oL s
saint : ormat

(A) Ramdas

(B) Hay
(C) Chaitanya tay

(D) \f;dlahh ach arya

N chay

Which cost keeps o

the changes in the Guangiy, 0‘"2 With
produced ? Qtput
(A) Fixed Cost

(I3) Variable Cost

(C) Semi-variable ( ‘ost

(D) None of these

57,

58

59.

60.
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61.

62.

63.

64.

65.

66.

67.

68,

Kimberley is famous for
(A) Silver mines

(B) Diamond mines

(O) Platinum mines
(D) None of the above

Firoz Shah Tughlaq established a fort at
this place of Haryana in 1354

(A) Gurugram

(B) Mahendragarh

(C) Sonipat

(D) Hisar

The indirect portion of the total cost
constitutes the cost.

(A) Marginal (B) Standard
(C) Overhead (D) Job

The ruler of Ballabhgarh in Haryana
and was actively involved in India’s

independence struggle was
(A) Maharaja Agrasen

(B) Raja Nahar Singh

(C) Yadavindra Singh

(D) King Prithu

IFHELP is coded as 5, how is BELL coded ?

) 8 () 8

Functions of Management consisting of
(A) Planning (B) Organizing
(C) Directing (D) All of these

The employee’s contribution to National
Pension System (NPS) (to the extent of 10%0f
the salary of the employee) is deductible under

which Section of the Income Tax Act, 1961”7
(A) 80CCD (1) (B) 80C ’
(C) 80CCC (D) None of these

The escape velocity from the cart:} ‘i::“ :
11 kms~'. The escape velocity IT e

P hen
lanet having twice the radius, t
same mean dengity as the earth would be

1472019 (2)
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(A) Lala Lagpat Rai

(B) Hukum Singh

() Pandit Neki Ram

() Pandit Kanshi Ram

The establishment of World Trade
Organization (WTO) is in the year January
(A) 1996 (B) 1995
(C) 1997 (D) 1998

According to a legend, this sarovar has a
mention in Mahabharata citing its yge by
Duryodhana to hide himself under water
on the concluding day of the war
(A) Bhimkund

(B) Brahma Sarovar

(C) Surajkund

(D) Hathnikund
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Factors Governing production choices |
consisting of

(A) Specialization

(B) The division of labour
(C) Globalization

(D) All of these

The point where the energy is released
during the earthquake is called

(A) Pro centre

(B) Epicentre

(C) Hypocentre

(D) None of the above
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to form NaOH, This proc

(A) Chlor-alkali process
(B) Decomposition process
(C) Soda-alkali process
(D) Electrolysis
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antonym of the £
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83. FABLE
(A) facade
(B) fact
(C) fal.eo/

(D) none of thes°

84. PRO FANE

(A) prous
% A) kitten
- (C) energy
o
\ ¢ (D) wild

Direction - 85 and 86 : Add suitable questiont

tags to the following from the alternatives given

below them.
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85. Itisverycold today, v~ ?
(A) 1s it

B 1sn't it

(C) aren't it

-\‘}'.‘

(D) was it

86. None of them is honest,
(A) aren't thcg."
B are they
(C) isn't it

(D} won't they
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